Zadání - písemný projev, úroveň 2 - 3
Tato verze zadání je pouze cvičná, není použita v oficiálních testech.
Časový limit pro zpracování obou úloh je 90 minut.
Úloha 1:  An e-mail
You ordered some goods from a British online shop but unfortunately the goods arrived broken. Write an email to the client service of the e-shop and explain:
•	when and what you ordered
•	what the parcel looked like when you got it
•	what is wrong with the goods 
•	what you expect as compensation
Minimální požadovaná délka : 150 slov

Úloha 2: A composition 
Choose A or B:
A. Many people, including experts, are calling for the legalization of marihuana in the Czech Republic. Should marihuana be allowed for recreational use in our country? Consider arguments both for and against legalization, and provide your own standpoint on this issue.
B. The roles of the military have changed with the end of the Cold War, and many countries have come to the conclusion that armed forces are too large and expensive to maintain. Politicians have initiated the closure of bases and the decrease in military and civilian personnel. Is it reasonable to reduce an army nowadays when the current world is full of military conflicts? Give an analysis from your perspective.
Minimální požadovaná délka : 300 slov
  

Ukázka psaného projevu
Úlohu zpracoval jeden z posluchačů kurzů CJV v rámci výuky. Posluchač udělil souhlas se zveřejněním své práce.
 
Úloha 1:  
Dear Sir/Madam,
Last Monday (24th of April 2017) I ordered a new refrigerator Philips Ax2017 from your e-shop. I paid it from my account on 26th of April and parcel should be delivered by Friday 28th of April 2017.
I am afraid, but there were a few problems with the delivery. First of all, the transport company was 3 days delayed without giving any information or explanation. Secondly, the fridge had broken doors, which was not clearly visible at the beginning due to the additional coverage on the parcel. And finally, the fridge was left in front of my house despite it should be brought directly into it. 
 	This is the first time I have experienced any problems with your company, therefore I expect smooth and soon solution of this problem. I prefer replacement of the fridge by another one of the same model. 
Best Regards
R. Whitman
(148 slov)

Úloha 2:  
With the end of the Cold War many countries believes, that the war danger is lower and via reducing sizes of their armies, they will spare money in their budgets.
	This might be true; on the other hand it is definitely short seeing policy. Firstly, it’s generally known, that there don’t exists a longer period of time without a military conflict somewhere in the World. Consequently, with globalization the World becomes one huge village and distances do not play so important role as it was in previous time.  Unfortunately, “a press button” system is able to send a rocket at the distance of hundred kilometres and hit target, which is considered to be in a safe zone. Moreover, for terrorists borders aren’t real obstacles.  Therefore the army is crucial part of state power and one of its main tasks is to reinforce police when dealing with those threats. Secondly, even if we are a part of NATO pact, we can not relay only on our counterparts. First of all, every country must be able to defend itself. Only after that it can expect help from other NATO members.   And vice versa, we are obliged to send our soldiers as a support force in a case, when another NATO partner is endangered. 
	To sum it up, the need of properly trained and equipped armies has not disappeared with the end of the Cold War, even if it is definitively sure, that scales and types of possible conflicts has world while changed.
(250 slov)

 



Hodnocení

Tato práce byla ohodnocena pracovníky Oddělení testování a metodiky CJV úrovní 2+.


Komentář ke zpracovaným úlohám

Ukázky z písemného projevu použité pro ilustraci v komentářích zůstávají v původní podobě tak, jak je formuloval pisatel.

	
Kladné stránky
· zadání bylo do značné míry splněno 
· pisatel je schopen napsat delší text o abstraktních tématech
· pisatek dobře agumentuje, rozvíjí myšlenku, text logicky plyne
· text je logicky členěn, jsou použity vhodné spojovací výrazy
· pisatel používá odpovídající míru formálnosti
· autor ve většině případů rozlišuje časové roviny, používá správně předpřítomný čas (This is the first time I have experienced...)
· odpovídající  slovní zásoba (obstacle, crucial, vice versa, target, be obliged)





	
Nedostatky

· pisatel se vyhýbá složitějším gramatickým jevům
· u složitějších struktur autor nerozlišuje časové roviny  (parcel should be delivered by Friday,  ... it should be brought directly into it. – v obou případech se mělo jednat o minulost)
· problémy se shodou – sloveso je v množném čísle, ač by mělo být v jednotném  (scales and typesof conflicts... has changed ), či naopak (many countries believes)
· problémy se strukturou vět a slovosledem (...despite it should be brought directly into it.,  ... has world while changed)
· patrný vliv češtiny (there don’t exists ..., I’m afraid, but there were a few problems]
· nepřesně či chybně použitá slovní zásoba (soon solution, definitively, short-seeing , relay)
· [bookmark: _GoBack]další nepřesnosti  v užití členů (..and parcel should, .., the army is crucial part of state power),  so x such (so important role), předložek  (... the need of ...)



Závěr
Úroveň písemného projevu je bližší úrovni 3 než úrovni 2. Pisatel dokáže napsat vcelku souvislý formální dopis, umí podat i detailnější informace. Pisatel je schopen napsat delší text o abstraktním tématu, dokáže vyjádřit své názory, i když myšlenky mnohdy dále nerozvede.  Jeho projev je snadno srozumitelný rodilým mluvčím.

Písemný projev nedosahuje úrovně 3, neboť se pisatel systematicky vyhýbá složitějším strukturám, místy nerozlišuje časové roviny. V jeho práci je patrný vliv češtiny. Pisatel nezformuluje hypotézu, názory nejsou dostatečně podepřené argumenty. Nepřesně použitá slovní zásoba a absence komplexnějších struktur mu zabraňují dostatečně vyjádřit jeho stanoviska. 

